AIRFFFET

DM7ZL, LY AT« TV JFTELY
Oy AZ7A5)IT (1 EFET) »EHNRL TOIUEAF v 7
@7 YL @5)1T (1[E%ET)
@7 =F 7 @25)1T (2 EIE T, 1Kz 0)
@e L+ G)IT (3EF Trl, 1 K#2ZF )
®t Lxr—2(5)0.5A+ A 50ml, 30 532N F THRIH
(DO~@ TR VEE, NIRHSRZ2 VR, 1 RgfE)221FC 3 [8l/H £ THl,)
®=> b (10)1A im
(DO~ THREAREE, 1 EE#ZEF T 3/ £ TH,)

DM &V, ~ LY LT« FILIL
O~y 571A5)1IT (1EIET) =EHHNRL TOHIIZARF v
@F YL A@5)IT (1[HET)
@E /I BIT (3EETH, 1KMZET )
@ L —A(5)0.5A+E £ 50ml, 30 5377 T A
(D~@TEFEZR\VKE, NARHKZROEE, 12217 C 3[El/H £ THl,)
®=> I (10)1A im
(D~@TH RO, 1 B2 T 3 [El/H £ THlL)

DM7ZL., N—=F V=LY,

O~y 5Z7(15)1T (1EIFET) >EHNRL TWIUEAF v 7

@7 VL A@25)1T  (1[EFET)

@7 =F T EL(25)1T (2[RlETr], 1KMZET )

@e LTI GIT (3EIETH, 1KHZET )

®= > b 2 (10)0.5A+4A 50ml, 30 232> TAiff or =2 kX 2(10)0.5A im
(D~@THERVEERL, AR WOEE, 1 EFE T 3 [El/H £ T/, MmERTICES,)

DM ®H Y, R—=F L V=XLHY,

O~y 5Z7(15)1T (1EIFET) >EHNRL TWIUEAF v 7

@7 1L @25)1T (1 [ET)

@E/F I (BIT (3 EFETH, 1KEHZETT)

@=> b 2 (10)0.5A+ 44 50ml, 30 22T TG or =22 k2 2 (10)0.5A im
(D~@THEARVEERL, NARH SRR WOEE, 1 EFER\WT 3 [E/H £ T, MmERTICES,)



%90 LA EDOLGAIITRO LD 2= D 5 E

QO ELLE, DM7Z2L, XLV AT « TV JFTE Y

O~y AZ7A5)IT (1 EFET) »EHNRL TOIUEAF v 7

@7 YL @25)1T (1[E%ET)

@7 =F 7 E(25)0.5T (4 [\F TH, 1FE#ZETFT)

@e L+ (5)0.5T (3[EIETH, 1 RERIZEIF )

®t L x—2(5)0.25A+ 44 50ml, 30 52T T

(DO~@ TR VEE, NIRHSRZR WK, 1 RgfE)221F7C 3 [al/H £ THl,)

®=> F(100.5A im
(O~OTHRRVEE, 1 RFFEZET T 3 BI/H £ TH,)

9L E. DMHY ., ~)ILY AT« FULL

DAY 5FABIT (LEET) —EHNR L TOIEA T v 7

@F ¥ L/L25)1T (1% T)

@t T I (6)0.5T (3[EE TH, 1MHZET )

@t L3 —A(5)0.25A+ A& 50ml, 30 437 MT T A
(D~@TRRARKE, PRI, 1 RERIZETC 3 [/ % THl,)

®=> k2(10)0.5A im
(D~@THRNEA\E, 1 %25 T 3[E/A £ TH.)

90 L . DM 72 L, N—=F 2V =XLH Y,

O~y 5Z7(15)1T (1EIFET) >EHNRL TWIUEAF v 7

@7 VL A@25)1T  (1[E%T)

@7 =F 7 EL(25)0.5T (4 [B1F TH, 1 KE#ZETT)

@e L+ (5)0.5T (3[EIETH, 1 KERIZET )

®= > k2 (10)0.25A+44 50ml, 30 43237 THdE or = b X 2(10)0.25A im
(D~@THERVEERC, AR OEE, 1 EFF W T 3 [E)/H £ T, MmERTICES,)

9 %L L, DM &H Y, R—=F YV =XLH Y,

O~y 5Z7(15)1T (1EIFET) >EHNRL TWIUEAF v 7

@7 1L @25)1T (1 [ET)

@t /T (5)0.5T (3[EIFETH, 1 K% C)

@= > kX (10)0.25A+ 44 50ml, 30 437F Tl or = kX 2(10)0.25A im
(D~@THEARVEERL, AR OEE, 1 EFER\WT 3 [El/H £ T, MmERTICES,)



